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Question 1 [25 marks]
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Question 2

0: 3= .833
1 2= 2.250
2 & = 1.600
3 L =.200
1 &= 1.600
5 1= .200
6 2= 2.250
n 2= .600
& 2 =.600
0 3 = 1.500
10: % =.500
11: g = 2.000
12: % = .500
13: g = 3.000
14: % = .500
15: 2 = 2.500
16: § = 2.250
1 9= 3.000
18 3= .375
19: %: 166
20: % = 2.000
21: 2: 1.000
22: %: .00
23: %: 1.500
24: % = .5333
25: 5 = 2.250
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Question 3  [25 marks] Question 4  [25 marks]
0: & = 1.666 0: 2 =.600
1 %= 4.500 1 8 =1.393
2 2 = 1.666 2 L= 1.400
3 3= 1.500 3 2 = 1.666
1 3= 750 4 3 =1.000
50 0= 1.000 5 2 = 1.250
6: 5= 1333 6: 5 = 4.500
T &= .875 7 2= .066
& 7=.800 & 2= .400
9 2 = .666 0 § = .125
10: 5 =.500 0: 3 =.875
1: 3= .800 1: 2 =400
12: 5 = 2.500 12: = 2.500
13: %: 000 13: %z 1.600
14: i: 250 14: %: .166
15: § = 2.250 15: 2 = .666
16: 5 = 2.250 16: 5 = 2.666
17: % = 3.333 17: % = 2.000
18: 5 = 2.666 18 5 = 3.000
10: £ = 1.400 19: = 4.500
20: 3 =.800 20: 22 = 5.000
21: £ = 1.333 21 L = 2.500
22: £ =.875 22: 3= 4.500
23: 5 = 2.000 23: 3 = .500
21: £ = 1.166 21: S = 2.000
25: 2 = 1.000 25: 5 = .066
fractodec8_1to10 fractodec8_1to10
027 7 September 201/ 2



Frac-Dec-L2 Answers Set1

Question 5 [25 marks] Question 6 [25 marks]
0: §=4.000 0: 2 =.400
2= 2500 1 3= .500
2 1= 3.500 2 ¢ =.100
3 3 =.500 3 2 = 1.250
1 = 3.333 4 2= 1.600
50 &= 1.166 5 3 =750
6: 2 =.750 6: 2 = 1.666
7 5= 2.000 7 W= 1.666
8 W= 1.666 8 = 5533
9: = 4.500 0: £ = 1.333
10: gz 1.000 10: g: 1.500
1 2 =.600 1: = 3.333

1

12: % = .833 122 ¢ = .200
13: %: 400 13: %: 500
u: 3= 1.000 14 = 3.333
15: & = 1.500 15 2 = .625
16: 5 = 2.000 16: 5 = 2.666
17 2 = 2.250 17 S = 3.000
18: 5 = 4.000 18 3= 1.125
19: 5 = 1.666 10: § = 3.000
20: 3 = .200 20: 2 = 2.500
21: g = 2.500 21: % = 1.500
22: 3 = 1.000 22: 1= 1.000
23: g = 1.000 23: % = 4.500
24: 3 = 600 21: § = 2.666
25: 5 = 1.600 25: 3 = 3.000
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Question 7 [25 marks] Question 8 [25 marks]
0: 3= 833 0: 5 =4.500
1 %= 500 1 8 = 2000
2 §=1.125 2 2= .250
3 5= 1.000 3 &= 1.166
4 &= 1.166 4 8= 1.500
503 =1.125 5 2= 2.333
6: 2 = 2.500 6: &= 1.166
8 =1.500 7 3= .500
8 2= 1.800 8 2= .833
9 § = 3.000 0. 3 = 1.500
10: 3 = 1.800 10: 2 =.600
n: =125 1: £ = 2.333
12: 5 = .666 12: 3 =750
13: 2 = 400 13: 2 = .625
u: 8= 1.853 1: 3 = .666
15: 3 = .500 15: 2 = 1.250
16: £ = 1.400 16: § = 2.000
17 5 = .333 17 2 = 1.000
18: £ = 1.600 18: 5 = .500
10: = .250 19: 5 = 1.333
20: i: 250 20: %: 1.125
21: § = 2.000 21: 2 = 1.666
22: § = 2.000 22: 3 =.750
23: %: 150 23: %: 1.500
21: 2 = 1.000 21: 5 = 2.000
25: 5 = 4.000 25: 3 = 3.000

fractodec8_1to10 fractodec8_1to10

027 7 September 2014 4



Frac-Dec-L2 Answers Setl1
Question 9  [25 marks] Question 10 |25 marks]
0: 2 = 30.666 0: 2 =12.000
1 81 = 16.750 1 2 = 3.000
2 9 = 13.333 2 2= 10.000
3: % 833 3: % = 2.833
1 8= 14.833 4 &= 10.666
5 2= 38.000 5 2= 10.250
6: 52 = 7.250 6: 2 = 10.000
7 82 = 7.750 7 2= 1.000
& 2= 6.800 s 5= 4.000
0. ¥ = 12.250 0 10 = 12.500
0: 2 = 3.666 10: 190 = 25.000
1: 8 = 16.500 1: 8 = 14.666
12: 3= 4.875 12: 5 = 20.250
13: 2 = 7.166 13: 32 = 6.500
14: % = 7.500 14: % = 11.353
15: 2 = 6.666 15: 52 = 6.875
16: o = 2.833 16: 2 = 12.250
17: % = 9.200 17: % = 0.200
18: 120 = 20.000 18 9B = 23.250
10: 82 = 22.250 19: 28 = 14.000
20: 2 = 6.000 20: % = 45.000
21 B = 15.750 21 B = 14.800
22: 2 = 2.500 22: 2 = 25.000
23: 32 = 8.250 23: & = 29.666
21: 32 = 16.500 21: 2 = 15.000
25: 2 = 9.000 25: & = 27.000
fractodec8_1to100 fractodec8_1to100
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Question 11 |25 marks] Question 12 [25 marks]
0: g = 5.000 0: B = 18.250
1: 40 = 10.000 1 8 = 7.800
2 = 38.000 2 2 = 3.000
3 5= 1333 3 5= 14.000
a: 5= 27.000 e B =1.750
5 2= 1.625 50 % = 19.200
6 2= 18.750 6: L = 5.750
. 5= 40.500 7 2= 9.000
& 2= 36.000 & 2L = 25.500
0. 2= 12.375 0. B = 5666
10: 22 = 14.500 10: 3 = 6.375
1 2= 10.000 1: 22 = 7.000
12: 8 = 8.353 12: 5 = 39.500
13: = 7.125 13: = 4.666
14: % = 22.000 14: % = 4.400
15: 32 = 8.750 15 2 = 1.875
16: o = 38.500 16: = 11.750
17: %1 = 11.833 17: %7 = 11.400
18: 2 = 14.166 18 18 = 4,000
19: 2 = 2.500 19: 8 = 43.000
20: % = 10.000 20: % = 13.166
21 L= .875 21: 8 = 17.200
22: & = 10.666 22: & = 16.200
23: & = 10.166 23: 2 = 2.875
21: 2 = 6.750 21: = 11.750
25: 2 = 3.750 25: 2L = 25.500
fractodec8_1to100 fractodec8_1to100
027 7 September 201/ 6



Frac-Dec-L2 Answers Setl1
Question 13 |25 marks] Question 14 |25 marks]
0: 85 = 43.000 o: & =21.333
1 o= 38.500 1 8= 21.000
2 2 = 15.800 2 2= 5.625
3 & = 458.500 3. B = 12.600
1 G =5.125 4 2= 7500
5 B = 26.333 5 2= .500
6: = 35.500 6: 2 = 4.000
7 o= 2353 7 8= 15.750
8 2= 11.875 8 0 = 52200
0. T = 12.333 0. 5= 11.750
10: 2 = 5.000 10: 2= 7.250
11: SZ = 20.500 11: g = 2.500
12: 3 = 1.500 12: 2 = 13.666
13: 92 = 15.833 13: %= 23.500
1: = 45.000 : = 12.125
15 2 = 9.500 15 &= 2.333
16: 2 = 19.750 16: 2 = 15.000
17: 38 = 3.600 17: % = 2.500
18: 2 = 38.000 18: 2 = 10.800
10: & = 21.000 19: 2 = 31.000
20 10 = 50.000 20: 8 = 20.750
o1 2 = 7.666 21: 2 = 46.000
22: 2 = 23.750 22: & = 4.666
23: Q= 8125 23: 2 = 5.800
24 8 = 42.000 24 8 = 22.000
25: 2 =.250 25: 2 = 8.400
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Question 15 |25 marks] Question 16 |25 marks]
0: 3 = 28.000 0: 20 = 8.666
1P = 22.500 1 8= 22,666
2 2L = 8.500 2 8= 44.500
3 2 = 10.400 3 T =19.250
1 20 = 8.533 4 = 22.000
50 2 = 18.400 5 52 = 7.000
6: 2 = 15.000 6: 2 = 5.000
7. 3= 17.000 7. 2= 17.600
8 & = 10.875 8 2 = 7.400
0: 2 = 12.000 0: 9 = 11.250
0: 5 = 1.333 0: ¢ = 15.750
n: 9 = 31.533 n: $ = 8.000
12: 2 = 253.833 12: 2 = 9.666
13: 2 = 7.353 13: 5= 12.750
1: 2= 19.000 : o= 11.833
15: 2 = 5.875 15: 2= 3.750
16: = 14.666 16: 5 = 10.500
17: % = 1.166 17: g = 2.500
18: 0 = 16.250 18: o= 37.000
19: 92 = 31.666 10: 2= 11.500
20: B = 11.666 20: 5 = 45.000
21: 2% = 18.666 21: & = 10.000
22: © = 12.600 22: 2 = 9.000
23: 3 = 1.333 23: 20 = 4.533
24: % = 2.125 24: %7 = 14.500
25: 52 = 22.000 25: 12 = 18.750
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Question 17 |25 marks] Question 18 [25 marks]
0: 2.500 = 2 0: .750 = 2
1 1.750 = 1:.625 = 2
2 4.000 = 2 1.000 = 1
3: 3.000 = 3 3: 4.000 = 4
4250 = § 4 625 =3
5: 2.000 = 5 750 = 2
6: .250 = ; 6: 1.666 = 12
7. 2.000 = 7. 3.000 = 3
8 625 =2 8 625 =2
9: 1.000 = 9: 750 = 2
10: 125 = ¢ 10: 1.333 = 13
11: 4.500 = 4 11: .625 = %
12: 2.000 = 12: 500 = 1
13: .666 = 2 13: 1.166 = 13
14: 1.000 = 1 14: .500 = 3
15: 2.000 = 15: .250 = i
16: 2.000 = 16: 333 = 3
17: 5.000 = 17: 500 = 3
18: 375 = 3 18:.500 = 3
19: .500 = 1 19: 2.250 = 21
20: 4.500 = 4 20: .333 = 3
21: 2.000 = 2 21: 1.400 = 1%
22: 2.666 = 2 22: 1.600 = 12
23: 750 = 3 23: 1.125 = 15
24: .500 = % 24: .200 = %
25: 1.000 = 1 25: 875 = 1
dectofrac8_1to10 dectofrac8_1to10
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Question 19 |25 marks] Question 20 |25 marks]
0: 5.000 =5 0: 1.250 = 1%
1200 =} 1: 1.000 =1
2: .600 = 2 2 625 =3
3. .666 = 2 3: 1.500 = 13
4 1.750 = 12 4 2.000 = 2
5: 2.000 = 2 5: 2.500 = 21
6: 166 = § 6: 1.000 = 1
7 666 = 2 7200 = &
g 2.000 = 2 8 1.600 = 12
9: 2.333 = 23 9: .333 = 3
10: 1.166 = % 10: 2.000 = 2
11: 2.500 = 2% 11: .500 = %
12: 625 = 2 12:.500 = 3
13: 5.000 =5 13: 250 = 1
14: .750 = % 14: 1.000 =1
12
15: .166 = % 15: 1.666 = 1%
16: .500 = 1 16: 1.000 =1
17:.500 = 3 17: 1.800 = 13
18: 750 = 2 18: 250 = 1
19: .250 = } 19: 250 = 1
20: 1.250 = 1% 20: .833 = %
21: 1.666 = 1% 21: 4.500 = 4%
22: .500 = 3 22: 3.500 = 3%
2 _ 9l
23: .666 = 3 23: 3.333 = 33
24: 1.000 =1 24: 1.000 =1
25: 1.000 = 1 25: 3.000 = 3
dectofrac8_1to10 dectofrac8_1to10
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Question 21 |25 marks] Question 22 |25 marks]
0: 4.500 = 43 0: 2.500 = 23
11250 = § 1: 4.500 = 45
2 625 =2 2: 125 =
3: 2.000 = 2 3 750 = 3
4: 3.000 = 3 4 333 = &
5: 2.666 = 23 5: 2.000 =
6: 1.000 = 1 6: 750 = 3
7 666 = 2 7. 1.400 = 12
& .500 = 1 s 4.500 = 41
9: 1.666 = 12 9: 1.000 =
10: .375 = % 10: 2.000 =
11: 2.000 = 2 11:.600 = 2
12: 333 = 3 12: 1.000 =
13: 1.000 = 1 13: 1.400 = 12
14: 750 = % 14: .166 =
15: 4.000 = 4 15: 2.000 =
16: 9.000 = 5 16: 3.000 = 3
17: .666 = 2 17 750 = 3
18: 2.500 = 23 18:.500 = 3
19: 3.500 = 31 10: 1.200 = 11
20: 4.000 = 20: 1.125 = é
21: 1.800 = 1% 21: 1.333 = 13
22: 625 = 2 22: 1.200 = 1%
23: .600 = 2 23: 2.333 = 25
24: 1.250 = 1i 24: 1.166 = %
25: 1.000 = 1 25: .200 = =
dectofrac8_1to10 dectofrac8_1to10
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Question 23 |25 marks] Question 24 |25 marks]
0: .200 = £ 0: 3.333 = 33
1250 = 1 1: 1.000 =1
2: 2.250 = 23 2 375 =3
3: 1.500 = 13 3: 2.000 = 2
4:.500 = 3 4: 1.200 = 11
5: 2.000 = 5 1.125 = 15
6: .500 = § 6: 666 = 2
7600 = 2 7. 1.166 = 15
s 1.500 = 11 s 1.000 = 1
9 1.125 = 13 9: 2.250 = 27
10: 1.200 = 12 10: 500 = 3
1: 125 = § 11:.666 = 2
12: 2.250 = 23 12: 1.000 = 1
13: .625 = 2 13: 3.333 = 33
14: 3.000 = 3 14: 750 = %
15: 1.333 = 13 15: 1.250 = 11
16: 750 = 3 16: 3.000 = 3
17: 1.000 = 17: 500 = 3
18: 2.000 = 18: 750 = 3
19: 1.500 = 13 19: 500 = 1
20: 1.666 = 12 20: 375 = 3
21: 2.500 = 2% 21: .250 = i
22: .500 = 3 22: 1.500 = 13
23: .500 = § 23: 333 = %
24: .250 = i 24: 2.250 = 2%
25: 1.666 = 13 25: 2.500 = 23
dectofrac8_1to10 dectofrac8_1to10
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Question 25 |25 marks] Question 26 |25 marks]
0: 8.166 = 81 0: 9.000 = 9
1 5.750 = 53 1: 9.500 = 91
2: 8.500 = 83 2: 13.333 = 133
3 20.000 = 20 3 13.000 = 13
1 .200 = ¢ 2 13.750 = 132
5 21.500 = 213 5: 21.333 = 213
6: 7.375 = 72 6: 19.250 = 195
7. 19.600 = 192 7. 11.625 = 112
& 6.600 = 62 & .333 = §
9: 7.333 = T3 9: 10.500 = 103
10: 8.600 = 82 10: 7.600 = 72
11: 6.833 = 63 333 =1
12: 6.375 = 63 12: 19.400 = 192
13: 6.333 = 63 13 5.500 = 51
14 10.500 = 102 14: 15.500 = 152
15: 18.400 = 182 15: 14.666 = 142
16: 17.250 = 175 16: 6.500 = 63
17 4.875 = 4L 17 14.000 = 14
18: 14.500 = 141 18: 18.500 = 183
10: 9.200 = 92 19: 31.666 = 313
20: 21.750 = 21% 20: 29.666 = 29%
21: 17.000 = 17 21: 7.200 = 71
22: 12.000 = 12 22: 16.250 = 161
23: .500 = 3 23: 5.500 = 53
24: 14.800 = 143 24: 7.500 = 73
25: 10.500 = 104 25: 8.125 = 83
dectofrac8-1to100 dectofrac8-1t0100
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Question 27 |25 marks] Question 28 |25 marks]
0: 42.000 = 42 0: 18.800 = 182
1: 5.000=5 1: 7.200 = 71
2: 17.333 = 175 2: 3.875 = 31
3: 22.666 = 222 3: 16.333 = 161
4: 11.500 = 115 4: 9.666 = 92
5 11.166 = 115 5 9.250 = 91
6 5.000 = 5 6: 18.750 = 183
7. 19.333 = 194 7. 5.500 = 53
8 3.666 = 33 8 5.000 =5
9: 23.500 = 231 9: 3.333 = 33
10: 1.500 = 11 10: 29.500 = 291
11: 16.200 = 16+ 11: 36.500 = 365
12: 31.500 = 313 12: 15.833 = 152
13: 24.750 = 243 13: 11,125 = 115
14: 5.333 = 5% 14: 3.000 = 3
15: 9.166 = 93 15 1.250 = 11
16: 9.125 = 93 16: 2.666 = 22
17 24.000 = 24 17 1.250 = 11
18: 9.833 = % 18: .500 = %
19: 8.333 = 83 19: 15.333 = 155
20: 19.200 = 192 20: 21.666 = 212
21: 1.000 = 1 21: 12,400 = 122
22: 8.500 = 83 22: 11.625 = 113
23: 9.750 = 93 23: 35.500 = 353
24: 7.200 = 72 24: 43.500 = 431
25: 13.000 = 13 25: 35.500 = 351
dectofrac8_1to100 dectofrac8-1to100
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Question 29 |25 marks] Question 30 [25 marks]
0: 34.500 = 343 0: 11.833 = 113
1 11.200 = 111 1: 1.000 =1
2: 17.333 = 173 2: 3.333 = 33
3: 8.125 = 83 3: 38.500 = 383
4: 8.250 = 8% 4: 7333 =73
5: 1.666 = 13 5: 7.600 = 72
6: 19.500 = 195 6: 11.750 = 113
7. 3.000 = 3 7. 6.400 = 62
& 20.333 = 203 & 24.500 = 243
o: 8.000 = 8 o: 6.000 = 6
10: 21.500 = 213 10: 3.375 = 33
11: 14.000 = 14 11: 2.166 = 2%
12: 37.500 = 373 12: 14.500 = 143
13: 1.500 = 13 13: 33.000 = 33
14: 43.000 = 43 14: 6.000 = 6
15: 44.000 = 44 15: .500 = 1
16: 5.400 = 52 16: 21.000 = 21
17: 16.600 = 1632 17: 23.000 = 23
18: 7.500 = 73 18: 11.250 = 115
19: 6.800 = 63 19: 12.750 = 122
20: 48.500 = 483 20: 6.000 = 6
21: 12.800 = 122 o1 11.250 = 111
22: 2.500 = 23 22: 16.666 = 162
23: 12.750 = 123 23: 2.333 = 25
24: 46.000 = 46 24: 12.250 = 121
25: 6.833 = 6% 25: 6.000 = 6
dectofrac8_1to100 dectofrac8-1to100
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Question 31 |25 marks] Question 32 |25 marks]
0: 14.000 = 14 0: 4.166 = 41
1: 4.000 = 4 1: 23.666 = 233
2 22.000 = 22 2: 15.000 = 15
3: 11.500 = 115 3: 4.000 = 4
4: 8.750 = 83 4 3.000 = 3
5: 12.500 = 123 5: 5.166 = 5¢
6: 1.250 = 15 6: 1.125 = 15
7 33.000 = 33 7. 19.333 = 193
8 30.000 = 30 8 23.500 = 231
0: 4.333 = 43 9: 19.750 = 193
10: 2.625 = 22 10: 18.500 = 183
11: 22.000 = 22 11: 15.750 = 152
12: 2.500 = 23 12: 8.000 = 8
13: 12.600 = 122 13: 3.250 = 31
14: 5.500 = 53 14: 15.500 = 153
15: 3.000 = 3 15: 14.166 = 143
16: 12.333 = 125 16: 14.500 = 143
17: 13.000 = 13 17: 4.250 = 4%
18: 14.500 = 141 18: 42.000 = 42
19: 30.000 = 30 19: 6.800 = 63
20: 2.750 = 23 20: 7.000 = 7
21: 3.000 = 3 21: 12.375 = 123
22: 11.000 = 11 22: 3.125 = 3%
23: 16.000 = 16 23: 15.500 = 153
24: 3.625 = 33 24: 11.625 = 113
25: 1.125 = 13 25: 6.500 = 63
dectofrac8_1to100 dectofrac8_1to100
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